CapstanAG INSTALLATION INSTRUCTIONS - 118155-003 Rev. A

1.0 - INSTALLATION INSTRUCTIONS - 118155-003 Rev. A

Hub Mounting Bracket Installation

*  Models - AGCO RoGator 900/1100/1300 2015 and after

KIT NUMBER- 118703-008

PART NUMBER DESCRIPTION
713501-405 3/8-16 x 4 Flange Bolt 4
713501-905 3/8-16 Hex Locknut 8
713600-003 3/8 Flat Washer 8
713501-404 3/8-16 x 1 1/2 Flange Bolt 4
118640-031 Mounting Plate 2
118640-113 Hub Mount 1

For safety information see the system and machine manuals.

1. [Figure 1] - Identify the mounting location on top right
hand corner (1) of main boom frame.

Figure 1

©2017 Capstan® Ag Systems, Inc. 1




INSTALLATION INSTRUCTIONS - 118155-003 Rev. A

Ca pstanAG

2. [Figure 2] - Between the cable tie rings, install the
mounting plate (1) with the supplied hardware.

3. Attach the hub to the mounting plate as shown with
supplied hardware.

[Figure 3] - SharpShooter® with Rate Sync® Power Hub

[Figure 4] - PinPoint® Gateway Hub

Figure 2

Figure 4

©2017 Capstan® Ag Systems, Inc.



	1.0 - INSTALLATION INSTRUCTIONS - 118155-003 Rev. A
	1.0 - INSTALLATION INSTRUCTIONS - 118155-003 Rev. A
	Hub Mounting Bracket Installation
	• Models - AGCO RoGator 900/1100/1300 2015 and after
	<TABLE>
	<TABLE HEADING>
	<TABLE ROW>
	Kit Number- 118703-008

	<TABLE ROW>
	part Number
	Description
	Qty


	<TABLE BODY>
	<TABLE ROW>
	713501-405
	3/8-16 x 4 Flange Bolt
	4

	<TABLE ROW>
	713501-905
	3/8-16 Hex Locknut
	8

	<TABLE ROW>
	713600-003
	3/8 Flat Washer
	8

	<TABLE ROW>
	713501-404
	3/8-16 x 1 1/2 Flange Bolt
	4

	<TABLE ROW>
	118640-031
	Mounting Plate
	2

	<TABLE ROW>
	118640-113
	Hub Mount
	1



	For safety information see the system and machine manuals.
	<TABLE>
	<TABLE BODY>
	<TABLE ROW>
	1. [Figure 1] - Identify the mounting location on top right hand corner (1) of main boom frame. 
	1. [Figure 1] - Identify the mounting location on top right hand corner (1) of main boom frame. 
	1. [Figure 1] - Identify the mounting location on top right hand corner (1) of main boom frame. 
	1. [Figure 1] - 


	<GRAPHIC>
	Figure 1 


	<TABLE ROW>
	2. [Figure 2] - Between the cable tie rings, install the mounting plate (1) with the supplied hardware. 
	2. [Figure 2] -  Between the cable tie rings, install the mounting plate (1) with the supplied hardware. 
	2. [Figure 2] -  Between the cable tie rings, install the mounting plate (1) with the supplied hardware. 
	2. [Figure 2] - 


	<GRAPHIC>
	Figure 2 


	<TABLE ROW>
	3. Attach the hub to the mounting plate as shown with supplied hardware. 
	3. Attach the hub to the mounting plate as shown with supplied hardware. 
	3. Attach the hub to the mounting plate as shown with supplied hardware. 

	[Figure 3] - SharpShooter® with Rate Sync® Power Hub
	[Figure 3] - 

	<GRAPHIC>
	Figure 3 


	<TABLE ROW>
	[Figure 4] - PinPoint® Gateway Hub
	[Figure 4] - PinPoint® Gateway Hub
	[Figure 4] - 

	<GRAPHIC>
	Figure 4 






